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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 0.00 ~ 4.74 59.08 | =S | 0.00 ~ 0.00| 1.66 8.90 Thlst 1.00 | 5.00 ~ 56.00 59.08 | =ns | 5.00 ~ 6.00| 1.66 8.90
2 100kN/m%#8z% | 1.00 | 000 ~ 076 111.32 |3m%FBz3| — ~ — — — | 100kN/m%#825% | 1.00 | 1057 ~ 1283| 11132 |3m&E#BZ% - ~ — — —
s 1.00 | 0.76 ~ 854 100.00 | #nhst | 000 ~ 864|215 11.48 Thst 1.00 | 6.00 ~ 1057 100.00 | =nLSY | 6.00 ~ 1283) 215 11.48
3 100kN/m%E#8z5| 1.00 | 000 ~ 115 117.35 |3m&E#BZB| — ~ — — — | 100kN/mi%#825 | 1.00 | 1063 ~ 1443 117.35 |3m%EBZ5 - ~ — — —
st 1.00 | 115 ~ 894 100.00 | #nLst | 000 ~ 894 | 212 11.35 Thlst 1.00 | 6.00 ~ 1063 100.00 | =hLst | 6.00 ~ 1443|212 11.35
4 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m#%#B 2% — - ~ — — |3ImEBZ D -~ — — —
ZhLst 1.00 | 0.00 ~ 6.07 76.15 | #ns | ooo ~ 607|217 11.63 st 1.00 | 6.00 ~ 9.70 76.15 | EnLS | 600 ~ 970 217 11.63
5 100kN/m%#8%z% | 1.00 | 000 ~ 099 114.91 |3mEFBz3| — ~ — — — | 100kN/m%#825 | 1.00 | 1278 ~ 1643| 114.91 |3m%E#BZS -~ — — —
s 1.00 099 ~ 878 100.00 | =nhst | ooo ~ 878|276 14.80 Thst 1.00 | 6.00 ~ 1278 100.00 | =nLSt | 6.00 ~ 1643)| 2.76 14.80
p 100kN/mM%EBZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 429 5358 | EnRS | 000 ~ 4.29 | 2.45 13.10 Thst 1.00 | .00 ~ 9.10 53.68 | =nS | 5.00 ~ 9.10| 2.46 13.10
7 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
FhList 1.00 | 0.00 ~ 4.79 59.68 | =N | 000 ~ 479 1.95 10.41 Fhst 1.00 | 6.00 ~ 56.50 59.68 | TN | 5,00 ~ 6560\ 1.95 10.41
P 100kN/mMZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 4.04 50.60 | =ns | 0.00 ~ 404 2.06 11.05 Thist 1.00 | 6.00 ~ 56.00 50.60 | =nLs | 5,00 ~ 6.00| 2.06 11.05
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ ZznLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




